THISERREREIRE DLV T

1 EREIKR

(EERIFHER RIEHK. TERITHMEMHFH GHEE))

\ — — — — —
X% &% SHmE | SbERDER
396 255 141
SH3%E
- 364 (91.9%) 239(93.7%) 125(88.7%)
406 255 151
SH2E
384 (94.6%) 242(94.9%) 142(94.0%)
412 254 158
SRS
b 390 (94.7%) 247 (97.2%) 143 (92.3%)

2 EREECLORROEIK

SHBETA1BRE

ZREHE £k EEAY =t B 181 g%
TEEERE 7,999 1,019 4,042 1,186 1,729 23
REEEERE 11,513 1,661 5,900 1,844 1,899 209
REILBEERE 9,693 2,077 4,482 1,241 1,879 14
ENEEEE 6,397 1,579 2,304 698 1,779 37
FHEHEERE 2,851 67 1,566 269 841 108
WRRERBERE 3,304 32 1,559 361 1,262 90
TEERE 2,021 141 1,111 202 496 71
BEEEE 2,316 272 1,069 204 741 30
HMREERE 2,166 100 1,411 391 216 48
v 48,260 6,948 23,444 6,396 10,842 630
SH2ETA1BRE

ZRERE £l BEAML =i [EFE tea ] g%
TEERE 7,624 974 3,939 1,005 1,635 71
REEMERE 11,090 1,596 5,551 1,861 1,755 327
BB EEE 9,936 2,044 4515 1,344 2,000 33
ENisERE 6,300 1,394 2,481 658 1,698 69
FEEMERE 2,855 64 1,627 214 768 182
WX EERBEERE 3,412 20 1,492 460 1,265 175
TEEERE 2,081 144 1,156 154 556 71
EZEERAE 2,455 272 1,135 183 781 84
mREERE 2,168 100 1,413 391 216 48
B2 47,921 6,608 23,309 6,270 10,674 1,060
e B(SH3E—F24)

ZREHE £k EEAY =t B 181 g%
TEEERE 375 45 103 181 94 A 48
REEEERE 423 65 349 A 17 144 A 118
RELBEERE A 243 33 A 33 A 103 A 121 A 19
ENEEEE 97 185 A 177 40 81 A 32
FEENERE A4 3 A 61 55 73 A 74
WRRERBERE A 108 12 67 A 99 A3 A 85
TEEERE A 60 A3 A 45 48 A 60 0
BEEEE A 139 0 A 66 21 A 40 A 54
HmRERE A2 0 A2 0 0 0
v 339 340 135 126 168 A 430




